TOOLS REQUIRED (NOT included) MOUNTING ANGLES MOUNTING

CLEARANCE
™
T2 T3 T4 INSULATION TOP PLATE
@ TERASAKI s
Innovators in Protection Technology Screwdriver Screwdriver 13mm 13mm Ring \ [ |
Flathead Phillips (#2) Socket Spanner N
(5mm) wrench X — | X
X X
INSTALLATION INSTRUCTIONS . v - g
HARDWARE (included)
MOULDED CASE CIRCUIT
BREAKERS @) % % BR BR
) 1
TEMBREAK PRO A B ¢ b . nstuction !
P160 4P BASIC ELECTRONIC M8x16  Mgspring M8 flat M4x62 Interpole Manual
Slotted washer washer mounting Barriers This Document = =
Philips screw (8 qty) (8 aty) SCrews (3 qty) ( (1 qty) ) DIMENSIONS 84
(8 qty) (2aty) ‘ " F “ g BR,,BR,= Adjacent MCCBs
HARDWARE (NOT included) i I — =
W*

=@

|[—=—>
3

114
130
102
45*
€

I I I € - £

= l
= - —
_ 3 — ris]
Lugs or *M8x25 hex *M8 flat * M8 Belleville *M8 nut <] BN
Copper Bars bolt washer washer (8 qty) L BR
22 53 7
(8 aty) (8 aty) (8 aty) 4530 | ) BR, ’
*For extension bar connection only 90
120 6.5 72: Panel cutout
OPTIONAL (NOT included) %

I | M8 screw 24L
|
|
\
|
|

CLEARANCE *distance from conductor insulation to downstream MCCB
A o= |§ o= |& SIDE PLATE Ymin | Zmin W*min | X, min | X, min
0 02 " . " EArTHED METAL || MCCB CaINO- | () | (mm) MCCB CatNo. | ) (;nm) (?nm)
i = P160F 0 | 2
0 P160F 50 10 10
NHP Electrical Engineering Products Pty Ltd = . = oo 0 2
cetrcal Engingoring Proucts Ply « ; .M s P o | | 8| B
‘ AUS 1300 NHP NHP | nhp.com.au Extension Bars ngrcgsal Termr:(lz kCover andkle Accessories BR, Y BR, ‘ z P160H
NZ 0800 NHP NHP | nhp-nz.com oc BR, BR,= Adjacent Isolators / MCCBs
P160_4_BE-IN-001-EN V1.0.0
OPERATING INSTRUGTIONS INTERNAL ACCESSORIES ASSEMBLY PROCEDURE* P ——
STEP 3 IDENTIFY TRIP BAR ALARM TRIP BAR
&
MECHANISM
1 4 7

Operation  |Force (Nm)
OFF — ON 40
ON — OFF 30
TRIP — OFF 60

Button

DIRECTION OF POWER SUPPLY

= ?’P
1=0)
OR G

SR
nﬁjﬂlm

0 -ef
é

4.2

*For additional internal acccessory installations, scan QR code and refer to user manual for more details




<
—

Threshold Long Time Protection
(Rated Current)

Protection Settings

Long Time Delay (Time Delay)
Threshold Short Time Protection

Short Time Delay

1%t curve on Short delay protection

activated or not

MAX adjustment

(OFF)
il

threshold is firstly set using the |
time delay protection for a

1t curve on Earth Protection Activated

Instantaneous Protection Threshold
(ON) or not activated.

fine adjustments of 1% increments of |4 are possible using the

time delay defines the trip time of the long
FOR MORE INFORMATION, PLEASE SCAN THE QR CODE

NOTE: The Ground Fault Protection can be turned ON and OFF using the GF dial for

In (A)

h—’—»i

Isd i

>

t(s)

tr

g
tsd

TEMP
—
10 PICK UP

OFF 3

Isd (xIn ]

5
4
3 =
2
5

A

Ir (

6
7
8

PTA

tsd(ms) |

A

|
= OFFFt ON —!

8 400
9 300
10 200
100

50

li (xIn)

7
6
5
4
3

NOTE: When Ir. is OFF , the long time and short time protections are deactivated,

and only instantaneous protection (ICB) is activated

9

tr(s)

READY

400
300
200
100
1" 50

10
=12
14
16

e I

TERMINAL COVER

INTERPOLE BARRIER

L
S
Wy 5
3 O
: :
S &
Q x
o, pag L 0
o - 5 . g88ra LiNwows
zZ w o < ]
w L k|5 o
= m_ ¢ o | O < E
— ke ~ - ~ - |
2 < S8 oz | = 8 SET & © ] 3
= —_ (@) - Dnnd le..l “ = P ] V] .| %
< & T 58 2« Z v Sccoen o = Qowwso n v228I3 8 538 <
= = — B S = x S X L ans _
= - 2y e 2o k] @ M -
) [Th =292~ o = 2 o) 2 I
- n - | 0 WS WE Wg O ) e A
o E_SE 9 5 w =
¥ 2=2905 o3 = g
= Z5T Z 0©° © =
|
b |
Va2,
3 Sy
AN =
o _ w s}
g - :
X o S
o _ L o
2 : ,m
= | & g
C (=]
I % g
[an] kel
N o
S | o £
x 7 g
< — < =
m »E/ddv _ A\ e v " =
z a «@7 ‘hHIW% 9 P/, 3
A by =\ 7> @ = 8
2 (o ¢ ..lkﬂ 7 | iy 2 (NS 8
(AN 2 AN /A o g 3 p =
[ /, z 7 7/ ¥
£ - - z m&‘- © >
5 o = &/ BN L w3 <
! g © \ -
; VT S
z > 502 kE o X O < 4
Z 0 O
ow L @]
Xz =) =
w =z g
(@) o
O O
_ =
w |
x |
)
2 |
w |
@)
o |
¥
& |
z |
2 |
)
_.M E|El g Elglgle ,
Z =|s|5|a|&|E| & |
w IR IRY Vi Vi o 7
x |
|
_PIV ool gs s |
)
3 |
Q 52,8 |
(@) mmmm.m |
2eg2 g N |
g2 |5 \ 8 |
-
| — |—> Y% hd ,
e . O wi |
A EE \.\\ ‘ S |
g2 c 885 WVa o~ ©
) &y . |
22 23g2 /\\ﬁ[ s !
W 2 = 3]= f/\ W ,
<| m [oju|o "“‘ X x ,
v /) /¥ © wl
y [
| U1 @o-
g1 U
{ B—dulm| b X
Q g ” i
=
W m | O d ©.=
I ] —
< .m | (Hill q x
I £ | Ol 4| ‘e.| i1
T s | —
! va , 1l & L
(2] o~
z al T T T 00T
@) ©
E g o
a) S S ¢
z 8= ) ! a1,
= S EN & -
: i
2 5 g1 L -
= o
o |4 g1 T oI AV
-] o | -
S 5 m L (]
3 = g
b4 z | Y
3 i
B S :
Q- = |
O
=




